1.

A,B,C Al 7l19] F=AF1E Ao BAA v

o, a+b+c=12¢ =S o}o%ﬂ’r
> E:
e - 25
> HE: 316
a=1% o
(b, ¢) = (5,6),(6,5)
a=2% o
(b, ¢) = (4,6),(5,5), (6,4)
a=3< o
(b, ¢) = (3,6),(4,5),(5,4), (6,3)
a=4% o
(b, c) = (2,6),(3,5),(4,4), (5,3),(6,2)
a=5< o
(b, ¢) = (1,6),(2,5),(3,4),(4,3),(5,2), (6,1)
a=64 M
(b, ¢) =(1,5),(2,4),(3,3),(4,2),(5,1)
=L e 25 25
Iq"j’]'/‘_l (:TLO]"C %-]'E) m = m




e 13 2ol o §lol A, B, C, D, E,
F, G, H7} ot & 719 F=ARS1E F A1l
HAN e =9 o] dF H A4 &
Hoto] A Gz 2o, H DEE=HF
of & &E2 FotH? (ol : (1, 1) ¥ BF
A—CQC)

1 11 5
©) % @ ngs ©) =
7 &)s
D: go] 391 4% (1,2), (2,1), o] 1131 F% (5,6), (6,5)
F —O_]'O] 5(\)_. 75]—?‘ > ), > B (372)7 (4’ ]-)
Z 870l B2
8 2
36 9




3.

0 FE] 6 7FA] 9] Z247F 242 A7 7 3 9] 7Tt ek 3 S
Al 22l o] A5 whE o, A7 U &5 Fotejet

> E:

LT
nggn E

BotA

B

A 7490l 1 6x6x5 =180

St 3ol 58 Fohd
30 + 25 + 25 + 25 = 105 (7}A])
. 105 7
IR0 12

o] 2] o] 52471 0,2, 4,6 A wf, A7t B2 A 2] Zr)




wAE

5

Aol

S}
=

Aol O, x & FEA

=
s

5
ol

1

1

EHEL1-— =
= 16

3

ek 7




5. = 719 241912 SAlo] WA 0, L 9] 0] 7} 3 Bl 4
g9
3 1 5 1 7
@5 5 Wi @5 ®3
47139 SEL (1, 4), (2, 5), (3, 6), (6, 3), (5, 2), (4 1) 14
6
36




| 7l

[e)
=

7Rt 100

A g
o0
==

| 7o) 5

o
=

10

6.

sholat,

o, =

w4

A

mlw e TR e IR
Z o 2 Il Il

- . . . - . — — | ©
ul ul u m“_m_ m“_m m“_m — N —H[|©O <A
= =

A A AL AN D € 2 |




ol Ao A Bi-%o]7} gt

7.




o )
Ny
S
]
T
o
— ™ O._E
o_ﬁ 17F
Il —_—
wr m
o =
=
T o
o R
oyl
m_m o
oo
.
T
o Sl

o8 oE

a3t Fade] vzt




skt

2 o} 5]

FolH T4

-

1,2, 3,4, 59 A7 AR1 5 2] 7k

9.

N ™o

ol en 110




1 9t} & A=
=, A= 4

ZolY ol 1014 20744 247} 22t 47 go
Wol WT2 A YL kg thA 7| S Hol ¢

=

of v, hFolle &7 e FE27

1 1 1 3 1
o; @ ©np @4 9O
o re . 51
19 T e BE o=,
- _ 10 1
E7IUEEE: - =
T]’L}E = 20 9
Hatq Tl 38 Sxl o1
4 2 8




— IS

o8

)

&=

1__—-
.

3

(=




12. A, B, CA| Aol /A9UI9IRE B 1), P55 2 2527

1 1
D3 @ 3

A B CEEFHOEAS A TES
R ]

3 3 3 27

A B CEEZ2AS A TES
3 1 1 3
3373”7
webd Lot gEe

6 3 2 1 1
7wt w9 9" 3




o 2 =, 8 Al Ar ol

ZFryo] 67 9] 8 Fi} 4 7} 2

13.

2F
1=

A

SE EESE PR R

1
210

N o

— ™

il
AU 2 Jetd W (W, W, B) ,

(W, W, W, W, W, B)°| & 7} -7k 3t

)

ou ©
Ho o

o HO




™

— |©

10|

wjolc}. ¢

1

= A = A0
T iy 2T

)

1749

o

s
T

_EE
o
Ho
or
<k
HH

e ]




8
3

35

9 ~10

A

- .

ul

A A

=35-(2+5+7+8+3)=10(%)




